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RIER D AR IR R EGERE

HA3—2 BEMIHERTSLMBESNLERICHTSEEA/D _ _ _ | BmEEE  SAsEA
SERoME | EES 207BN274 BT \ LA -7 | PrfEHh K ETRAHT 1 3HE
3 SMERH O T inlZBE T 5T H# SERHA
ﬁ%&g TREOBBOSILADKRES TREDHBEILNDKRES TREOBHOEILADKRES TREDHBESILNDOKRES
= = AV AV T = = AV = AV = =
&5 X 4 .z,na; ‘Fmb(z)d)ﬁﬁﬁﬁ j](gr)\lﬁié X 4 ‘Fmﬁgég(crz;kl 'Z]n%{ jj(gr)\lﬁié R 4 ,Z,na; J:mfa(z)wtt.a jj(gr)\lﬁié X 4 J:erb(z)@ttm 'Z]n%{ jn(g')\acn%é
; 100kN/m#%#BZ % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#BZ % — -~ — — |3mZE#BZ B -~ — — —
st 1.00 | 0.00 ~ 6.38 80.28 | =t | 000 ~ 638|176 9.44 ZzhnLst 1.00 | 5.00 ~ 7.60 80.28 | =St | 5.00 ~ 7.60|1.76 9.44
2 100kN/m#%#BZ % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#8Z % — -~ — — |3mZE#BZ B -~ — — —
st 1.00 | 0.00 ~ 718 91.25 | #hst | 0oo ~ 000|170 911 ZzhnLst 1.00 | 5.00 ~ 9.18 91.25 | =0 | 5,00 ~ 9.18|1.70 911
P 100kN/m%#BZ % — -~ = —|3mZEBZB| — ~ - — — | 100kN/mM%Z#BZ % — -~ — — |3mZE#BZ B -~ — — —
ZzhnLst 1.00 | 0.00 ~ 725 92.36 | =hst | 0oo ~ 725|181 9.66 ZhLst 1.00 | 5.00 ~ 9.30 92.36 | =S | 5.00 ~ 9.30 | 1.81 9.66
4 100kN/m%#BZ % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#BZ % — -~ — — |3mZE#BZ B -~ — — —
ZzhnLst 1.00 | 0.00 ~ 7.29 92.88 | =nhst | 0oo ~ 729|247 13.22 ZhLst 1.00 | 5.00 ~ 10.62 92.88 | =St | 5.00 ~ 1062|247 13.22
5 100kN/m#%#82% | 1.00 | 000 ~ 113 116.99 |3m%Ei#EZH| — ~ — — — | 100kN/mi%#B25% | 1.00 | 1055 ~ 14.00| 116.99 |3mEHEZS -~ — — —
st 1.00 | 1.13 ~ 891 100.00 | =N | 000 ~ 891|222 11.90 zhLst 1.00 | 5.00 ~ 10.55 100.00 | #nS | .00 ~ 14.00| 2.22 11.90
p 100kN/m#Z#8%25%| 1.00| 000 ~ 1.44| 121.86 |3mZEBZDB| — ~ — — — | 100kN/mi%#BZ25% | 1.00 | 10.73 ~ 1600| 121.86 |3mEHEZS - ~ - - -
ZhnLst 100|144 ~ 922 100.00 | #nst | 000 ~ 922|227 1217 ZhnLs 1.00|5.00 ~ 1073 100.00 | =nLS | 5,00 ~ 1600|227 1217
7 100kN/m##BZ%| 1.00 | 000 ~ 045 10672 |3mEBZB| — ~ — — — | 100kN/mi%#B2% | 1.00 | 1067 ~ 1200| 106.72 |3mEEZS -~ — — —
ZhLst 1.00 | 045 ~ 824 100.00 | #nS | 000 ~ 824|211 11.28 ZhLst 1.00 | 5.00 ~ 1067 100.00 | =ns | 500 ~ 1200|2.11 11.28
5 100kN/m%#82% | 1.00 | 000 ~ 1.78 127.534 |3m%E#BZH| — ~ — — — | 100kN/mi%# 825 | 1.00 | 10.75 ~ 1798 | 127.34 |3mEHEZS -~ — — —
ZzhnLst 1.00 | 1.78 ~ 9.57 100.00 | #nst | 000 ~ 957|227 12.156 st 1.00 | 5.00 ~ 10.75 100.00 | #nSt | .00 ~ 1798|227 12.15
P 100kN/m%#82% | 1.00 | 0.00 ~ 181 127.82 |3m%&i#BZH| — ~ — — — | 100kN/mi%#8 2% | 1.00 | 1223 ~ 2601 127.82 |3m%&iBAS -~ — — —
ZzhnLst 1.00 | 1.81 ~ 9.60 100.00 | #ns | 0.00 ~ 960|272 14.57 ZhnLst 1.00 | 5.00 ~ 1223 100.00 | #nS | 6,00 ~ 2601|272 14.57
10 100kN/M#%#82% | 1.00 | 000 ~ 254 139.89 |3m%E#EZH| — ~ — — — | 100kN/mi%#825% | 1.00 | 11.10 ~ 2871 139.89 |3m%&iBAS -~ — — —
ZhnLst 1.00 | 264 ~ 1033 100.00 | LS | 000 ~ 1033 2.84 15.20 ZhnLst 1.00 | 5.00 ~ 1110 100.00 | #nLS | 6,00 ~ 2871 | 2.84 15.20
17 100kN/mM#%#82% | 1.00 | 000 ~ 254 139.82 |3m%E#BZH| — ~ — — — | 100kN/mi%# 2% | 1.00 | 10.79 ~ 24.84 139.82 |3m%&iBAS -~ — — —
ZhnLst 1.00 | 264 ~ 1032 100.00 | #nLSt | 0.00 ~ 1052 2.58 13.80 ZhnLst 1.00 | 5.00 ~ 10.79 100.00 | #nLS | 6,00 ~ 24.84 | 2.68 13.80
12 100kN/m##BZ%| 1.00 | 000 ~ 246 138564 |3ImEBZB| — ~ — — — | 100kN/mi%# 2% | 1.00 | 1057 ~ 21.77| 13864 |3mEHEZS -~ — — —
ZTh LIS 1.00 | 246 ~ 1025 100.00 | TN | 000 ~ 1025| 2.66 14.22 ZhLs 1.00 | 5.00 ~ 1057 100.00 | #ns | 5,00 ~ 21.77| 2.66 14.22
13 100kN/m##8Z2%| 1.00 | 000 ~ 206 131.90 |3ImEBZB| — ~ — — — | 100kN/mi%#82% | 1.00 | 1066 ~ 19.37| 131.90 |3mEHEZS -~ — — —
st 1.00 | 206 ~ 985 100.00 | #ns | 0.00 ~ 985|229 12.28 ZzhnLst 1.00 | 5.00 ~ 10.66 100.00 | #nLS | 6.00 ~ 19.37| 2.29 12.28
14 100kN/m#%#BZ % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#8Z % — -~ — — |3mZE#BZ B -~ — — —
ZzhnLst 1.00 | 0.00 ~ 462 57.58 | =S | 000 ~ 0.00| 1.60 8.65 st 1.00 | 5.00 ~ 56.00 57.68 | =S | 5,00 ~ 5.00 )| 1.60 8.05
100kN/m%#BZ % ~ ImEHEZD ~ 100kN/m%Z#8 % % ~ ImEHBZS ~
ThLsh ~ Zn LS ~ ThLsh ~ LS ~
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